LITTLE STAR NURSERY AND PRIMARY SCHOOL

CLASS: 5 SUMMATIVE ASSESSMENT TEST

L. CHOOSE THE CORRECT ANSWER:

Which of the following is a solid? ( Air / Apple / water)
What is the process of making yarn from lint called? ( spinning / weaving / knitting )
Jute fibre is obtained from ( leaf / stem / root )
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Which of the following connect the kidneys to the urinary bladder?
( neurons / blood vessels / wureters )
5. Which of the following is not a complex compound? ( proteins / fats / glucose )

18 FILL IN THE BLANKS:

Ginning is done to separate from the seeds.

soil is suitable for growing cotton.
The are the primary organs of the respiratory system.
is referred to as the golden fibre.
The process of making cotton yarn from cotton fibre is ’
The system removes the waste products or wastes from our body.
Woolen clothes are manufactured from .
Synthetic fibres is also called fibre.
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. MATCH THE FOLLOWING:

1. Yarn - ginning

2. Fabrics - stem

3. Lint - wood pulp
4, Jute - spinning
5. Rayon - weaving

Iv. DRAG AND DROP THE CORRECT ANSWER:

Name the organ or gland that produces bile juice.

Name any one liquid that does not dissolve in water.
Name the state of matter in which the molecules are closely packed.
Which among the nylon and polyester is used to make PET bottles.
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Which organ system helps in transporting oxygen and nutrients to every part of the body?

[ sOLD POLYESTER LIVER CIRCULATORY SYSTEM COCONUTOIL ]
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